
OP Top Monitor Mount
Manual



Take out
2* horizontal support
1* display backplate
4* M6x40 bolt
4* 3030 M6 slotted bolt
4* M6 washer



Attach the display backplate
as shown.
Use M6 slotted nuts
as counterparts to bolts
that are installed ”backwards”.
So remember; the flat side of the
slotted nut per bolt.

After that, take out
2* hpl outer vertical support
4* M6x30 bolt
4* 3030 M6 slotted nut



Attach the parts as shown.
Use a slotted nut, so that
the flat surface points towards
the bolt and turn it transversely
as shown.

After that, take out
2* lower inner vertical support
1* transverse support
4* M6x40 bolt
4* 3030 M6 slotted nut
4* M6 washer



Insert all the pieces into the outer vertical supports
as shown. The bolt goes from the groove of the outer
vertical support through the hole of the inner vertical
support into the end hole of the transverse support.
The slotted nut works as a counterpart for bolt.
So remember; the flat surface per bolt.

After that, take out
4* 3030 angle iron
4* M8x25
4* 3030 M8 slotted nut



Insert the angle irons as shown.
If you’re attaching a rack to a 40 series
aluminum profile, use the lower hole to insert
the angle iron.

After that, take out
1* Vesa-adapter
2* M8x20 handle
2* M8 washer



Vesa-adapter is attached as shown.
For the installation of the monitor, it might be
easier to install the Vesa-adapter on the monitor
first.

In addition, there also comes
4* M4x18 bolts
to install the monitor
4* M8x12 bolts
4* M8 slide-in slotted nuts
to install the rack


	Slide 1: OP Top Monitor Mount
	Slide 2
	Slide 3
	Slide 4
	Slide 5
	Slide 6
	Slide 7

